
c.69 Present Simple Passive

am / is / are  + V3
Litter is left in forests.

Animals are hurt.
Water isn’t saved .

Paper aren't recycled.



 Задание 1.Найди ошибки в предложениях:

*The environment is polluted.
* Trees is broken.
* Air polluted.
* Nature is protect.
* Pollution reduced.



Задание 2.Напиши предложения в Present Simple Passive: 

Образец: 1. Animals are hurt.

1.They hurt animals.
2.We reuse plastic bottles.
3.We plant trees.
4.I recycle paper.
5.Eco-friends reduce pollution.



Homework:
выполнить задания 1,2 и 
отправить учителю по 
электронке., у.1 с.48-49 в Р.
Т.


